Czechoslovak Mathematical Journal

David J. Foulis; Pavel Pták On the tensor product of a Boolean algebra and an orthoalgebra

Czechoslovak Mathematical Journal, Vol. 45 (1995), No. 1, 117-126

Persistent URL: http://dml.cz/dmlcz/128501

Terms of use:

© Institute of Mathematics AS CR, 1995

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-GZ: The Czech Digital Mathematics Library* http://dml.cz

ON THE TENSOR PRODUCT OF A BOOLEAN ALGEBRA AND AN ORTHOALGEBRA

D. FOULIS, Amherst, and P. PTÁK, Praha

(Received January 19, 1993)

1. Orthoalgebras

Orthoalgebras are algebraic systems that generalize Boolean algebras, orthomodular lattices, and orthomodular posets. They were originally introduced in [13]. The following simplified definition is due to Golfin [6].

Definition 1.1. An orthoalgebra (OA) is a system $(L, 0, 1, \oplus)$ consisting of a set L containing two special elements $0, 1 \in L$ and a partially defined binary operation \oplus on L that satisfies the following conditions for all $p, q, r \in L$:

- (i) [Commutative Law] If $p \oplus q$ is defined, then so is $q \oplus p$ and $p \oplus q = q \oplus p$.
- (ii) [Associative Law] If $p \oplus r$ and $p \oplus (q \oplus r)$ are defined, then so are $p \oplus q$ and $(p \oplus q) \oplus r$ and $p \oplus (q \oplus r) = (p \oplus q) \oplus r$.
- (iii) [Orthocomplementation Law] For each $p \in L$ there is a unique $q \in L$ such that $p \oplus q$ is defined and $p \oplus q = 1$.
- (iv) [Consistency Law] If $p \oplus p$ is defined, then p = 0.

Example 1.2. Let L be an orthomodular poset (OMP). If $p, q \in L$, define $p \oplus q$ iff $p \perp q$, in which case $p \oplus q := p \vee q$. Then $(L, 0, 1, \oplus)$ is an OA.

It can be shown [4] that an OA $(L,0,1,\oplus)$ arises as in Example 1.2 from an OMP iff it satisfies the following condition: If $p,q,r\in L$ and $p\oplus q$, $p\oplus r$, and $q\oplus r$ are defined, then $p\oplus (q\oplus r)$ is defined. This is the sense in which orthoalgebras generalize OMP's.

For simplicity, we usually refer to L, rather than to $(L,0,1,\oplus)$, as being an OA.

Definition 1.3. Let L be an OA and let $p,q \in L$. We say that p and q are orthogonal and write $p \perp q$ iff $p \oplus q$ is defined. If q is the unique element in L for which $p \perp q$ and $p \oplus q = 1$, we say that q is the orthogonal element of p and write

q=p'. The relation $p\leqslant q$ means that there is an element $r\in L$ such that $p\perp r$ and $p\oplus r=q.$

One can easily prove [4] that if L is an OA, then $(L, 0, 1, \leq,')$ forms an orthocomplemented poset.

Definition 1.4. Let L be an OA and let $P \subseteq L$. We say that P is a *suborthoal-gebra* of L iff $0, 1 \in P$, $p \in P \Longrightarrow p' \in P$, and $p, q \in P$ with $p \perp q \Longrightarrow p \oplus q \in P$.

Evidently, a suborthoalgebra P of an OA L is an OA in its own right under the restriction of \oplus to P. As such, if P is a Boolean algebra, we refer to P as a Boolean suborthoalgebra of L.

Definition 1.5. A subset D of an OA L is said to be *orthogonal* if its elements are pairwise orthogonal and there is a Boolean suborthoalgebra P of L with $D \subseteq P$.

2. Tensor products of orthoalgebras

In this section we outline the basic facts about tensor products of OA's (see [3]).

Definition 2.1. If P, Q are OA's, then a morphism from P to Q is a mapping $\gamma \colon P \to Q$ such that $\gamma(1) = 1$ and, whenever $a, b \in P$ with $a \perp b$, it follows that $\gamma(a) \perp \gamma(b)$ and $\gamma(a \oplus b) = \gamma(a) \oplus \gamma(b)$. If, in addition, $a, b \in P$ with $\gamma(a) \perp \gamma(b) \Longrightarrow a \perp b$, then $\gamma \colon P \to Q$ is called a monomorphism. An isomorphism is a surjective monomorphism.

If $\gamma \colon P \to Q$ is a morphism, then $\gamma(0) = 0$ and, for every $p \in P$, $\gamma(p') = \gamma(p)'$. Also, if $a, b \in P$ with $a \leq b$, then $\gamma(a) \leq \gamma(b)$. Furthermore, if $\gamma \colon P \to Q$ is an isomorphism, then it is a bijection and $\gamma^{-1} \colon Q \to P$ is a morphism.

Definition 2.2. Let P, Q, L be OA's. A mapping $\beta: P \times Q \to L$ is called a *bimorphism* iff it satisfies the following conditions:

- (i) $a, b \in P$ with $a \perp b, q \in Q \Longrightarrow \beta(a, q) \perp \beta(b, q)$ and $\beta(a \oplus b, q) = \beta(a, q) \oplus \beta(b, q)$.
- (ii) $p \in P$ and $c, d \in Q$ with $c \perp d \Longrightarrow \beta(p, c) \perp \beta(p, d)$ and $\beta(p, c \oplus d) = \beta(p, c) \oplus \beta(p, d)$.
- (iii) $\beta(1,1) = 1$.

If $\beta \colon P \times Q \to L$ is a bimorphism, then $\beta(\cdot,1) \colon P \to L$ and $\beta(1,\cdot) \colon Q \to L$ are morphisms. Also, if $a,b \in P$ and $c,d \in Q$, then

$$a \leqslant b, \ c \leqslant d \Longrightarrow \beta(a,c) \leqslant \beta(b,d) \text{ and } \beta(a,0) = \beta(0,c) = 0.$$

Definition 2.3. If P, Q are OA's, then a tensor product of P and Q is a pair (T, τ) consisting of an orthoalgebra T and a bimorphism $\tau \colon P \times Q \to T$ such that the following conditions are satisfied:

- (i) If L is an OA and $\beta: P \times Q \to L$ is a bimorphism, there exists a morphism $\gamma: T \to L$ such that $\beta = \gamma \circ \tau$.
- (ii) Every element of T is a finite orthogonal sum of elements of the form $\tau(p,q)$ with $p \in P$, $q \in Q$.

A tensor product of P and Q, if it exists, is unique up to isomorphism in the following sense: If (T,τ) and (T^*,τ^*) are tensor products of P and Q, then there exists a unique isomorphism $\sigma\colon T\to T^*$ such that $\tau^*=\sigma\circ\tau$. Thus, if P,Q admit a tensor product, we may speak of the tensor product of P and Q and denote it by $(P\otimes Q,\otimes)$, or simply by $P\otimes Q$.

Theorem 2.4 [3]. Let P, Q be OA's. Then the tensor product $P \otimes Q$ exists iff there is at least one OA L for which there is a bimorphism $\beta: P \times Q \to L$.

Although there are examples of OA's P and Q having no tensor product, the tensor product usually exists except for rather bizarre OA's [3].

3. The sum of a Boolean algebra and an orthoalgebra

In this section, we assume that B is a Boolean algebra and L is an OA. Our purpose is to construct the $sum\ S$ of B and L. (Prior to that, let us call a finite subset D of L orthogonal if its elements are pairwisely orthogonal and there is a Boolean subalgebra P of L with $D \subseteq P$. It can be easily proved [4] that there is an element $\bigoplus D \in L$, called the orthogonal sum of D, such that $\bigoplus D$ is the least upper bound of D in any Boolean subalgebra of L that contains D.)

Definition 3.1. A subset E of B is called a *finite partition* (FP) if $0 \notin E$, E is a finite orthogonal set, and $\bigoplus E = 1$.

If $E \subseteq B$ is an FP and $b \in B$, then $b = \bigoplus \{b \land e \mid e \in E\}$ follows from the fact that $\bigoplus E = 1$ and the distributive law. In particular, if $b \neq 0$, there exists $e \in E$ with $b \land e \neq 0$. Also, if $E, F \subseteq B$ are FP's, then

$$G:=\{e\wedge f\mid e\in E,\ f\in F,\ e\wedge f=0\}$$

is an FP. Furthermore, each element $g \in G$ can be written uniquely in the form $g = e \wedge f$ with $e \in E$, $f \in F$.

Definition 3.2. Let $\Sigma := \{ \varphi \colon E \to L \mid E \subseteq B \text{ is an FP} \}$. If $\varphi, \psi \in \Sigma$ with $E = \text{dom}(\varphi), F = \text{dom}(\psi)$, we define:

- (i) $\varphi \leqslant \psi$ iff $e \in E$, $f \in F$, $e \land f \neq 0 \Longrightarrow \varphi(e) \leqslant \psi(f)$.
- (ii) $\varphi \equiv \psi$ iff $\varphi \leqslant \psi$ and $\psi \leqslant \varphi$.
- (iii) $\varphi' : E \to L$ by $\varphi'(e) := \varphi(e)'$, for all $e \in E$.
- (iv) $\varphi \perp \psi$ iff $\varphi \leqslant \psi'$.

Lemma 3.3. \leq is a reflexive, transitive relation on Σ and \equiv is an equivalence relation on Σ .

Proof. It is clear that \leq is reflexive. To prove that it is transitive, suppose that $\varphi, \xi, \psi \in \Sigma$ with $\varphi \leq \xi$ and $\xi \leq \psi$. Let $E = \text{dom}(\varphi)$, $G = \text{dom}(\xi)$, $F = \text{dom}(\psi)$, and let $e \in E$, $f \in F$ with $e \wedge f \neq 0$. Then there exists $g \in G$ with $e \wedge f \wedge g \neq 0$. Thus, $e \wedge g \neq 0$, so that $\varphi(e) \leq \xi(g)$, and $g \wedge f \neq 0$, so that $\xi(g) \leq \psi(f)$. Consequently, $\varphi(e) \leq \psi(f)$, proving that $\varphi \leq \psi$. Since \leq is reflexive and transitive, it follows that Ξ is an equivalence relation.

For $\varphi, \psi \in \Sigma$, it is clear that $\varphi \leqslant \psi \Longrightarrow \psi' \leqslant \varphi'$ and that $\varphi'' = \varphi$. Consequently, if $\varphi^*, \psi^* \in \Sigma$ with $\varphi \equiv \varphi^*$ and $\psi \equiv \psi^*$, then

$$\varphi \perp \psi \iff \varphi^* \perp \psi^* \text{ and } \varphi \equiv \psi' \iff \varphi^* \equiv (\psi^*)'.$$

Definition 3.4. Let $\varphi, \psi \in \Sigma$ with $\varphi \perp \psi$. Let $E = \text{dom}(\varphi)$, $F = \text{dom}(\psi)$, and $G := \{e \land f \mid e \in E, f \in F, e \land f \neq 0\}$. Define $(\varphi \oplus \psi) : G \to L$ for $e \in E, f \in F$, with $e \land f \neq 0$ by

$$(\varphi \oplus \psi)(e \wedge f) = \varphi(e) \oplus \psi(f).$$

Theorem 3.5. Let $\varphi, \varphi^*, \psi, \psi^* \in \Sigma$ with $\varphi^* \leq \varphi, \psi^* \leq \psi$, and $\varphi \perp \psi$. Then $\varphi^* \perp \psi^*$ and $\varphi^* \oplus \psi^* \leq \varphi \oplus \psi$.

Proof. Let $e^* \in \text{dom}(\varphi^*)$, $f^* \in \text{dom}(\psi^*)$, $e \in \text{dom}(\varphi)$, and $f \in \text{dom}(\psi)$ and assume that $e^* \wedge f^* \wedge e \wedge f \neq 0$. We have to prove that $\varphi^*(e^*) \oplus \psi^*(f^*) \leq \varphi(e) \oplus \psi(f)$. But this follows immediately from $\varphi^*(e^*) \leq \varphi(e)$, $\psi^*(f^*) \leq \psi(f)$ and $\varphi(e) \perp \psi(f)$.

Corollary 3.6. Let $\varphi, \varphi^*, \psi, \psi^* \in \Sigma$ with $\varphi^* \equiv \varphi, \psi^* \equiv \psi$, and $\varphi \perp \psi$. Then $\varphi^* \oplus \psi^* \equiv \varphi \oplus \psi$.

Lemma 3.7. Let $\varphi, \psi, \xi \in \Sigma$ with $\varphi \perp \xi$ and $\varphi \perp (\psi \oplus \xi)$. Then $\varphi \perp \psi$, $(\varphi \oplus \psi) \perp \xi$, and $\varphi \oplus (\psi \oplus \xi) = (\varphi \oplus \psi) \oplus \xi$.

The proof is easy.

Definition 3.8. Define $\zeta \in \Sigma$ by dom $(\zeta) = \{1\}$ and $\zeta(1) = 0$.

If $\varphi \in \Sigma$, it is clear that $\varphi \leqslant \zeta \iff \varphi \equiv \zeta \iff \varphi(e) = 0$ for all $e \in \text{dom}(\varphi)$. Consequently, $\zeta' \leqslant \varphi \iff \zeta' \equiv \varphi \iff \varphi(e) = 1$ for all $e \in \text{dom}(\varphi)$. Also, $\varphi \leqslant \varphi' \iff \varphi \equiv \zeta$.

The proof of the following lemma is straightforward.

Lemma 3.9. Let $\varphi, \psi \in \Sigma$. Then:

- (i) If $\varphi \perp \psi$, then $\varphi \oplus \psi \equiv \zeta' \iff \psi \equiv \varphi'$.
- (ii) $\varphi \leqslant \psi \iff \exists \xi \in \Sigma, \varphi \perp \xi, \varphi \oplus \xi \equiv \psi.$

Definition 3.10. For $\varphi \in \Sigma$, define $[\varphi] := \{ \psi \in \Sigma \mid \varphi \equiv \psi \}$ and define $S := \{ [\varphi] \mid \varphi \in \Sigma \}$. For $\varphi, \psi \in \Sigma$, define:

- (i) $[\varphi] \leq [\psi]$ iff $\varphi \leq \psi$,
- (ii) $[\varphi] \perp [\psi]$ iff $\varphi \perp \psi$,
- (iii) $[\varphi]' := [\psi]',$
- (iv) $0 := [\zeta],$
- (v) $1 := [\zeta'],$
- (vi) If $\varphi \perp \psi$, $[\varphi] \oplus [\psi] := [\varphi \oplus \psi]$.

Our work thus far shows that all notions introduced in Definition 3.10 are well defined.

Theorem 3.11. $(S,0,1,\oplus)$ is an orthoalgebra.

Proof. The commutative and consistency laws are obvious, the associative law follows from Lemma 3.7, and the orthocomplementation law follows from Part (i) of Lemma 3.9.

We refer to the orthoalgebra S in Theorem 3.11 as the sum of the Boolean algebra B and the OA L.

4. The isomorphism of $B \oplus L$ and the sum S

In this section, we continue with the notation of Section 3, and prove that the tensor product $B \oplus L$ exists and is isomorphic to the sum S of B and L.

Definition 4.1. Let $b \in B$, $p \in L$. Define $b \cdot p \in \Sigma$ as follows:

- (i) If b = 0, then $b \cdot p := \zeta$.
- (ii) If b = 1, then $dom(b \cdot p) = \{1\}$ and $(b \cdot p)(1) := p$.
- (iii) If $b \neq 0, 1$, then $dom(b \cdot p) = \{b, b'\} \cdot (b \cdot p)(b) := p$, and $(b \cdot p)(b') = 0$.

The proof of the following lemma is a straightforward verification based on Section 3 and Definition 4.1.

Lemma 4.2. Let $a, b \in B$, $p, q \in L$. Then:

- (i) $1 \cdot 1 \equiv \zeta'$.
- (ii) $a \cdot p \equiv \zeta \iff a = 0 \text{ or } b = 0.$
- (iii) $a \cdot p \perp b \cdot q \iff a \perp b \text{ or } p \perp q$.
- (iv) $a \perp b \Longrightarrow a \cdot p \oplus b \cdot p \equiv (a \oplus b) \cdot p$
- (v) $p \perp q \Longrightarrow b \cdot (p \oplus q) \equiv b \cdot p \oplus b \cdot q$

Lemma 4.3. Let D be a finite, nonempty, orthogonal set of nonzero elements of B and let $\eta \colon D \to L$. Let $E \subseteq B$ be an FP with $D \subseteq E$, and define $\varphi \colon E \to L$ by $\varphi(d) := \eta(d)$ for $d \in D$ and $\varphi(e) := 0$ for $e \in E \setminus D$. Then $\{[d \cdot \varphi(d)] \mid d \in D\}$ is an orthogonal subset of S and

$$[\varphi] = \bigoplus_{d \in D} [d \cdot \varphi(d)].$$

Proof. The proof is by induction on $\sharp D$, the cardinal number of D. The result is obvious for $\sharp D=1$. Assume that it holds for $\sharp D=n$, and suppose $\sharp D=n+1$. Choose and fix $d_0\in D$. By the induction hypothesis, the theorem holds for $D\setminus\{d_0\}$ and the restriction of η to $D\setminus\{d_0\}$. Therefore, with $F:=(D\setminus\{d_0\})\cup\{f_0\}$, $f_0:=(\bigoplus(D\setminus\{d_0\})'=d_0\oplus(\bigoplus D)'$, and $\psi\colon F\to L$ defined by $\psi(d):=\eta(d)$ for $d\in D\setminus\{d_0\}$ and $\psi(f_0):=0$, we have that $\{[d\cdot\psi(d)]\mid d\in D,\ d\neq d_0\}$ is an orthogonal subset of S and

$$[\psi] = \bigoplus_{d \in D, d = d_0} [d \cdot \psi(d)].$$

Evidently, $d_0 \cdot \varphi(d_0) \perp [\psi]$. $[\psi] \oplus [d_0 \cdot \varphi(d_0)] = [\varphi]$, and the induction argument is complete.

Corollary 4.4. If $\varphi \in \Sigma$, and $E = \text{dom}(\varphi)$, then $\{[e \cdot \varphi(r)] \mid e \in E\}$ is an orthogonal subset of S and

$$[\varphi] = \bigoplus_{e \in E} [e \cdot \varphi(e)].$$

Lemma 4.5. The tensor product $B \otimes L$ exists and there is a surjective morphism $\gamma \colon B \otimes L \to S$ such that, for $b \in B$, $p \in L$, $\gamma(b \otimes p) = [b \cdot p]$. Furthermore, for $a, b \in B$, $p, q \in L$,

$$(a \otimes p) \perp (b \otimes q) \iff a \perp b \text{ or } p \perp q.$$

Proof. By Parts (i), (iv), and (v) of Lemma 4.2, the mapping $(b, p) \mapsto [b \cdot p]$ is a bimorphism from $P \times L$ to S; hence, $B \otimes L$ exists by Theorem 2.4. Therefore, by Part (i) of Definition 2.3, there is a morphism $\gamma \colon B \times L \leftarrow S$ such that $\gamma(b \otimes p) = [b \cdot p]$ for every $b \in B$, $p \in L$. If $\varphi \in \Sigma$ with $E = \text{dom}(\varphi)$, then

$$\gamma\Big(\bigoplus_{e\in E}e\otimes\varphi(e)\Big)=\bigoplus_{e\in E}\gamma\big(e\otimes\varphi(e)\big)=\bigoplus_{e\in E}\big[e\cdot\varphi(e)\big]=[\varphi]$$

by Corollary 4.4, and it follows that $\gamma \colon B \otimes L \to S$ is surjective. Finally, $a \otimes p \perp$ $b\otimes q \Longrightarrow \gamma(a\otimes p) = [a\cdot p] \perp \gamma(b\otimes q) = [b\cdot q] \Longrightarrow a\cdot p \perp b\cdot q \Longrightarrow a\perp b \text{ or } p\perp q \text{ by }$ Part (iii) of Lemma 4.2.

Corollary 4.6. If $0 \neq b \in B$, P is a finite subset of L, and $\{b \otimes p \mid p \in P\}$ is an orthogonal subset of $B \otimes L$, then P is an orthogonal subset of L and $\bigoplus_{p \in P} b \otimes p =$ $b \otimes \bigoplus P$.

Lemma 4.7. Suppose that $t \in B \otimes L$ has the form $t = \bigoplus a \otimes \sigma(a)$, where A is a finite subset of B and $\sigma: A \to L$. Let $E \subseteq B$ be an FP such that, $a \in A \Longrightarrow a =$ \bigoplus e. Then: $e \in E, e \leqslant a$

- (i) $e \in E \Rightarrow \{\sigma(a) \mid a \in A, e \leqslant a\}$ is an orthogonal set. (ii) If $\varphi \colon E \to L$ is defined by $\varphi(e) := \bigoplus_{a \in A, e \leqslant a} \sigma(a)$, then $t = \bigoplus_{e \in E} e \otimes \varphi(e)$.

Proof. For each fixed $e \in E$, we have $a \in A$ with $e \leq a \Rightarrow e \otimes \sigma(a) \leq a \otimes \sigma(a)$, and it follows that $\{e \otimes \sigma(a) \mid e \leqslant a \in A\}$ is an orthogonal subset of $B \otimes L$. Hence, by Corollary 4.6, $e \in E \Rightarrow \{\sigma(a) \mid e \leqslant a\}$ is an orthogonal subset of L and $e \otimes \sigma(a) = e \otimes \varphi(e)$. Therefore, $a \in A, e \leqslant a$

$$\begin{split} t &= \bigoplus_{a \in A} a \otimes \sigma(a) = \bigoplus_{a \in A} \left(\bigoplus_{e \in E, \ e \leqslant a} e \right) \otimes \sigma(a) \\ &= \bigoplus_{a \in A} \left(\bigoplus_{e \in E, \ e \leqslant a} e \otimes \sigma(a) \right) = \bigoplus_{e \in E} \left(\bigoplus_{a \in A, \ e \leqslant a} e \otimes \sigma(a) \right) \\ &= \bigoplus_{e \in E} e \otimes \varphi(e). \end{split}$$

Lemma 4.8. Every element $t \in B \otimes L$ can be written in the form $t = \bigoplus e \otimes \varphi(e)$, where $E \subseteq B$ is an FP and $\varphi \colon E \to L$.

Proof. We can write t in the form $t = \bigoplus_{i \in I} a_i \otimes p_i$, where I is a finite, nonempty indexing set, $a_i \in B$, and $p_i \in L$ for all $i \in I$. Let $A := \{a_i \mid i \in I\}$ and, for each $a \in A$, let $I_a := \{i \in I \mid a_i = a\}$. By Corollary 4.6, $a \in A \Longrightarrow \{p_i \mid i \in I_a\}$ is an orthogonal subset of L and $\bigoplus_{i \in I_a} a \otimes p_i = a \otimes \sigma(a)$, where $\sigma \colon A \to L$ is defined by $\sigma(a) := \bigoplus_{i \in I_a} p_i$. Therefore, $t = \bigoplus_{a \in A} (\bigoplus_{i \in I_a} a \otimes p_i) = \bigoplus_{a \in A} a \otimes \sigma(a)$. Let E be the set of all nonzero elements of E having the form E is an equal in E is a function of E and E is a function of E and E is a function of E. An application of Lemma 4.7 now completes the proof.

Corollary 4.9. If $t \in B \otimes L$, there exists $\varphi \in \Sigma$ such that $t = \bigoplus_{e \in \text{dom}(\varphi)} e \otimes \varphi(e)$ and $\gamma(t) = [\varphi]$.

Lemma 4.10. If $E \subseteq B$ is an FP, $\varphi \colon E \to L$, and $t = \bigoplus_{e \in E} e \otimes \varphi(e)$, then $t' = \bigoplus_{e \in E} e \otimes \varphi(e)'$.

$$\begin{array}{ll} e\bar{\epsilon}E \\ \text{Proof.} & 1 = 1 \otimes 1 = (\bigoplus_{e \in E} e) \otimes 1 = \bigoplus_{e \in E} e \otimes 1 = \bigoplus_{e \in E} e \otimes (\varphi(e) \oplus \varphi(e)') = \\ \big(\bigoplus_{e \in E} e \otimes \varphi(e)\big) \oplus \big(\bigoplus_{e \in E} e \otimes \varphi(e)'\big). \end{array} \qquad \Box$$

Theorem 4.11. $\gamma \colon B \otimes L \to S$ is an isomorphism.

Proof. Since γ is surjective, it suffices to prove that it is a monomorphism. Thus, let $s,t\in B\otimes L$ with $\gamma(s)\perp\gamma(t)$. By Corollary 4.9, there exist $\sigma,\tau\in\Sigma$ with $\mathrm{dom}(\sigma)=G$, $\mathrm{dom}(\tau)=H$ such that $s=\bigoplus_{g\in G}g\otimes\sigma(g), t=\bigoplus_{h\in H}h\otimes\tau(h), \gamma(s)=[\sigma],$ $\gamma(t)=[\tau]$ and $\sigma\perp\tau$. Let $E:=\{g\wedge h\mid g\in G,\ h\in H,\ g\wedge h\neq 0\}.$ Noting that E is an FP, $g\in G\Longrightarrow g=\bigoplus_{e\in E,e\leqslant g}e$ and $h\in H\Longrightarrow h=\bigoplus_{e\in E,e\leqslant h}e$. Applying Lemma 4.7 with t replaced by s and s replaced by s

5. Concluding remarks

In [10] the sum S of a Boolean algebra B and an OML L is shown to have the following properties:

- (i) There exist isomorphism $f: B \to S_B$ and $g: L \to S_L$, where S_B , S_L are sub-OML's of S, such that $f(b) \land g(p) = 0$ iff b = 0 or p = 0.
- (ii) There is no proper sub-OML of S that contains $f(B) \cup g(L)$.
- (iii) If μ is a probability measure on B and ν is a probability measure on L, then there exists a probability measure $\mu\nu$ on S such that $\mu\nu(f(b)) = \mu(b)$ and $\mu\nu(g(p)) = \nu(p)$ for all $b \in B$, $p \in L$.

It is not difficult to show that, even if L is only an orthoalgebra, the sum S has analogous properties. Indeed, if we identify S with $B \otimes L$ by the isomorphism of Theorem 4.11, we can define $S_B := \{b \otimes 1 \mid b \in B\}, S_L := \{1 \otimes p \mid p \in L\}, f(b) := b \otimes 1$ for $b \in B$, and $g(p) := 1 \otimes p$ for $p \in L$. Then S_B and S_L are suborthoalgebras of S and $f : B \to S_B$, $g : L \to S_L$ are isomorphisms. Even though S need not be a lattice, it turns out that the infimum $f(b) \wedge g(p)$ exists in S for all $b \in B$, $p \in L$, and we have $f(b) \wedge g(p) = (b \otimes 1) \wedge (1 \otimes p) = b \otimes p$. In particular, $f(b) \wedge g(p) = 0$ iff b = 0 or p = 0. Thus, the analogue of Condition (i) holds. The analogue of Condition (ii) would state that there is no proper suborthoalgebra of $B \otimes L$ that contains $f(B) \cup g(L)$ and is closed under existing finite infima. The analogue of Condition (iii) is a direct consequence of Theorem 2.7.

In [1] and [7] (see also [11]) it is shown that the sum S of a Boolean algebra B and an OML L is isomorphic to the bounded Boolean power $L[B]^*$ of L by B. By exactly the same argument, this result holds even if L is only an orthoalgebra. Therefore, we may conclude that the sum S, the tensor product $B \otimes L$, and the bounded Boolean power $L[B]^*$ are mutually isomorphic. The tensor product seems to be the only one of these three constructions that is available for the more general case in which B is replaced by an OML, and OMP, or an orthoalgebra (see [5] and [12]).

References

- C. Drossos: Ptak sums and Boolean powers. The Comenius University of Bratislava Mimeographed Notes. 1989.
- [2] D. Foulis: Coupled physical systems. Foundations of Physics 7 (1989), 905-922.
- [3] D. Foulis and M. K. Bennett: Tensor products of orthoalgebras. Order 10 (1993), 271-282.
- [4] D. Foulis, R. Greechie and G. Rüttimann: Filters and supports in orthoalgebras. International J. of Theoretical Physics 31(5) (1992), 789-807.
- [5] D. Foulis, C. Randall: Tensor product of manuals. An alternative to tensor product of quantum logics. Notices Amer. Math. Soc. 26(A) (1979), 558.
- [6] A. Golfin: Representations and Products of Lattices, Ph. D. Thesis. University of Massachusetts, Amherst, 1987.

- [7] V. Janiš: Notes on sums of Boolean algebras and logics. Demonstratio Mathematica 23(3) (1990), 699-708.
- [8] V. Janiš and Z. Riečanová: Completeness in sums of Boolean algebras and logics. International J. of Theoretical Physics 31(9) (1992), 1689–1692.
- [9] G. Kalmbach: Orthomodular Lattices. Academic Press, New York, 1983.
- [10] P. Pták: Summing of Boolean algebras and logics. Demonstratio Mathematica 19 (1986), 349–357.
- [11] P. Pták: Logics with given centres and state spaces. Proc. Amer. Math. Soc. 88 (1983), 106-109.
- [12] S. Pulmannová: Tensor product of quantum logics. J. Math. Phys. 26 (1985), 1-5.
- [13] C. Randall and D. Foulis: New definitions and theorems. University of Massachusetts Mimeographed Notes. Amherst, 1979.

Authors' addresses: D. Foulis, Department of Mathematics and Statistics, University of Massachusetts, Amherst, MA 01003, U.S.A. and P. Pták, Department of Mathematics, The Czech Technical University, Electrical Eng., 16627 Prague 6, Czech Republic.